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(Opportunity Cost) cup p 4o (A
Opportunity cost is the best alternative use of a resource.
(Principle of Optimization at the Margin) ‘519-/@\.@3 Tk 53 Gilwdiags ol (&
The Principle of Optimization at the Margin states that an optimal feasible
alternative has the property that moving to it makes you better oft and moving away
from it makes you worse oft.
(Complements) ‘_}.&o sV (C
Two goods are complements when the fall in the price of one, leads to a right shift
in the demand curve for the other.
(Law of Diminishing Returns) Jy3 2s3L 66 (s
The Law of Diminishing Returns states that successive increases in inputs
eventually lead to less additional output.
(Marginal Revenue) ol W] 55 (=
Marginal revenue is the change in total revenue associated with producing one
more unit of output.
(Perfectly Competitive Market) JolS'csl, ,15L (5
In a perfectly competitive market, (1) sellers all sell an identical good or service,
and (2) any individual buyer or any individual seller isn’t powerful enough on his

or her own to affect the market price of that good or service.
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Cod 50 45 51 9345 Aal g3 315 4> (Consumer Surplus) oS juas 2L,k cdw g Hlags VO v

550 A2l 33 Ol 50 a3 0SS e 21 515l Il ol 55 (ABL Qlogs Frv v v will,

ok Lo o3l 0 (Ologs) cuncd
Voo Vervaans
Yoo VO v
¥ Ovvnns
oo YOruun
Ll b dblae .. p=1,250,000-2500q

dl- (200*500,000)/2=50,000,000
<-  p=400,000 ... g= 340 C.S.=(340*(1,250,000-400,000))/2=144,500,000
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TC(q) = 50 — 20q + 0.1¢g>
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AVC(q)= 0.1q-20
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MR =MC ... q*=300 & max Profit= 8,950
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0.5 e d=2500...... Qs=c+2500p
Qd & QS vttt A=125,000 & ¢=50,000




